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3941 (4) The probability of the electron passing through the barrier is given by Eqs. 38-17a and 38-17b.
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'!!fjlﬁ_h&ﬂf! ranges from Oto # — 1. Thusfor n=3, £=0,1,2. Foreach £ the value of m,
hnm —L to +& or 28+ | values. For each m, there are 2 values of m_. Thus the number of
states for each £ is 2(2€ 4 1). The number of states is N = 2(0 + 1) + 2(2 + 1) + 2(4 +1)
- =[I8states| We start with €= 0, and list the quantum numbers in the order (n, £.m,,m,).
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-[#mn, 0<€<n—1. Since for each ¢ the number of possible states is 2(2€ + 1), the number
of possible states for a given # is as follows.
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o show that the ground-state wave function is normalized, we integrate |p7,,,|" over all space. Use
substitution of variables and an integral from Appendis B-5.
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Anﬁ:wu see that the ground-state wave function is nommalized.
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- -‘ﬁmfm the radial probability distribution for the grouum

t!“ﬁnlastntogml in Appendix B-4,
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